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1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.

Answer any seven out of ten. 2l SIOUEL Ald<ll SxalsL UL 14

What is dynamics?.

ASAMsd 2124 9 ?

Write down the classification of link.
sPaqu[2s dls 4 aoilsze s,

Write down the various types of cam.

54 <AL USRSy Bl

Sate different types of suspension spring.
AU (2L AL UsIR srRudl.
Ddifferentiate between higher pair and lower pair.
Q1242 U 2Aed G142 UR <Al dlad dvil,
What traction and tractive effort?.

259 2 25214 2442 (A4, syeudl,

Define degree of freedom.

ol 2115 (550 AumAl.

Define gradeability.

As[edlZ] uuendl

Define drag and lift.

9L v (@52 UHMAl,

State function of suspension system.
AU [A22H AL 51 syrudl,

Explain hammer blow. 03

GHR oAl AHMA, 03
OR

Explain static balancing. 03
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(2) 222l olale1 Aumal.
(b)  Give classification of kinematic pair.
(o) s1oqules U o qoilsaa suul.
OR
(b)  Explain factors affecting human comfort in a vehicle.
(o) Al U BHA 5¥52 < 212251 URoll sy,
(c)  Explain free vibration and forced vibration
(5)  Hsd USHUA DHel 60 URA AL UHMAL.
OR
(c)  Explain vibration isolation in a vehicle.
(5) Al Ui AUDGANA UDULAUA AHAL,
(d)  Explain condition for true rolling.
(&) g vzl g2q syouAl.
OR
(d)  Explain Ackerman steering mechanism.
(9 Vs [AgHid dHmAl
Q.3 (a)  Listout various factors affecting Braking Efficiency.
A, 3 (w)  aslol Al staudld 2142 524l uRotll gl
OR
(a)  Explain air resistance and rolling resistance.
(2) w2 A2 v 2[dol (A2 YHMAl,
(b)  Why suspension is required?
(5) U UL HI2 6r38] 897
OR
(b)  Explain leaf spring.
(o) dls o Auemdl.
(c)  Write the advantage of tubeless tyre over tubed tyre.
(5) 2404 21421 Ue® HI 24614 2142 <AL S1AE12AL Y BLLAlL

(c)

OR

A motor car has a wheel base of 2.75 m and pivot center 1.1 m the front
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and rear wheel track is 1.2 m. calculate the correct angle of outside lock
and turning circle radius of the outer front and inner rear wheel, when the
angle of inside lock is 40 °

(5) 25 Hizeslael <éld 6l 2.75 m wtel dell 6l dldlz 923, vid2
1.1 m 9.56ld 25 1.2 m €9, 671 »izR Al dls <l Bl 400 $IX dl d-ll
LIl Als <l HBLL tel 21822 52 il D2 212 cdlaldl 2l a5a Rsrusil
24l

(d)  Derive the equation for distribution of weight in 3 wheeled vehicle.
(&) 3-Uslalal Al Hi asye <l AR dlud 1 dizdl.
OR

(d)
($)

Explain swaying couple.
24991 $4A, AHMAL
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Explain power require for propulsion of vehicle.
Al AAIAAL HI2 6032 ULAR o Yol AHMAl,

OR
Write advantage of independent suspension system.
29 AU AL 51AEL SYRUAL

Explain stability of vehicle on slope.
2100 R Al il [Razd1L Al
OR
Explain distribution of weight in four wheeled vehicle.
4-U1AUL ALl Hi Aoyt <{l Ag2Aull uxmAl.
Three masses m1,m2 and m3 are 3 kg,4 kg and 2 kg respectively.The
Corresponding radii are 30 mm, 40 mm and 35 mm and inclined at
309,120 9and 270 °. For the static balancing find the balancing mass

(at radial distance of 35 mm) weight and its angular position w.r.t
horizontal. Use analytical method to solve.

0L 20l m1,m2 d2l m3 24454 3 kg4 kg 2 2 kg <L 9. 241424015

YR5HBL Reriisil 2158 30 mm,20 mm 24 25 mm 9,218 4 412 201l
VBIL 254 30°,120° il 270° €9, 22[25 Gid<y 112 35mm il

Biswnii oxi2a uldend 4et dal 221 sl 53,

Explain types of follower.
1A AL USI2 AHMAL

Explain radial ply tyre construction.
3 el 2142 <Al AL uHmal.

Explain four bar mechanism.
512 0112 (W5l Uyl

Derive relation between engine revolution and vehicle speed.
Vifesye Al URSHEL 2 Al <l 08U A2 L Aol dlRAl
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